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‘Student: | = Instructor: Alfredo Alvarez Assignment:
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1.( Sol\_;gvlhe equation. Al 3 X { - 7 ' B C‘7 ',,/ — 7 "‘}
et -72x-9=0 2. S8 ¥ re \_ELE_{J_/__ \
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The solution set is

(Simplify your answer. Ty
: R Y 3 AN —— /
i Answer: 1 3? 2y T2 r’)\ ?07/( _{( é:).j/
B eI AR -
btz s ih. b7 answ
[\ ¢ 2nbhekie (T =3 -3 -
.. -‘-—_‘_E PF439_ él.(/*))’ ﬁ,(’f’( ’_( - 7 __’(_‘ }) — - __J;

f; Find th@d(ﬁﬂ Pz) between the given points _ﬂ"’wv“;;w (3} [ ) F
P, and P, (,{)+/7{~,L ‘ ;;;_;;:::_ ! X / /L

Pi=@31)

Py=(-5.2) d“ (3) - (s})-f(ﬂ/ (z))LPz P1
g = (st)b‘/'(/ )& '61-7.‘;:
= V@ et

AP d = (e[ <
(Simplify your answer. Type an exact answer, using radicals as needed.) { :’\

Answer: /65

[ i F12 d=7.06

: 3. L Fmd@ line segment joining the points P; and P,,. érﬁ?s\"f”f\ >

| ‘5/ ) 6)
1 Ly ﬂ

NN

I

(NS ' 4

ﬂ/
Py=(3, ~4)P,=(5,6) Q:J/\m ((’ =

The midpoint of the line segment joining the pomts P1 and P2 e ol
(Simplify your answer. Type an ordered pair.)

Answer: (4,1) /4"(/{/6[,1_[:’ ( ﬂ . / ) (_ijf_—_fj )

&

M«z//ﬂuw,l 5(?/15’/ —Fre

2

T TN e

—
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For the equation x° +y2 — 2x— 4y - 11 =0, do the P 7 ’fj' ( ) 5
following. ((/(’.) fL { / |
B 7l . /- . B~
(a) Find the center (h,k) and radius r of the i A )
(b) Graph the circle. 74 6-
(c) Find the intercepts, if any. /,-/ 1
. 4
| ]
(a) The center is 2-]
(Type an ordered pair.) | _ i,
ol s 6 a2 [T27T4 168710
The radius is r= 2+
(b) Use the graphing tool to graph the circle. -.4-
(c) Find the intercepts, if any. Select the correct choice 6
below and, if necessary, fill in the answer box to complete t
your choice. L8
-1
A. The intercepf(s) is/are . . 5
I i€y e— (A
{Type an ordered pair. Use a comma to { 9 —Z )( c/j / ( r’fh, ; /
17 <

separate answers as needed. Type
exact answers for each coordinate, using
radicals as needed.)

) B. Th?{e is no mtercept
/' —~ X ~t ( ("t’))

Answers }1 2)

X4t
X'Z—(_’.:("r/ #7 y
e ) (TR

&N

A

X gy

g e (4 (—-v))‘
’7‘/ «-?’/ -+ (~2)°

. /~£— () (E(x))
i -2 *
: // ~ / *
= /6
@/ /) —1‘/7—&/ “= /6
Censdic < / /,2)

%//wj::!/g

=)

10+

A. The intercept(s) is/are (1-243,0),(1+243,0),(0,2- 415),(0,2+415) .

(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each

coordinate, using radicals as needed.)

————

e e

e
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5. Find tt@omain the function.
f(x) = 1/ 2x-6

The domain is . (Type your answer in interval notation.)

o+ -

ClL_.J y?7¢Ca “

b At 15

,,-;‘{/_('_,{’— AX'fﬁ ;)/L'!

Answer: [3,00) %{/ / - { /fg /t/,_ G

/

ID: 1.1.59
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6. For the given functions f and g, com j parts (a) (h) For parts (a)-(d), also find the domain.
f(x) = 5x+2; g(x) = Tx—4 )+ o=

(a) Find (F+ g)(x). (5’/4’2,)’74 (77D = (‘{ o 3\5

(f+g)(x)= (Simplify your answer. _ - ‘-v//
SR X = (—02, () |

What is the domain of f+g? Select the co ice below and, if necessary, fill in the answer box to. cemr?)ﬁe your
choice. / 7 /{/’_ \\“ A //

O A. The domain is x —} gt

(Use integers or fractions for any numbers in t e expressmn Use a comma to separate

answers as needed.) /,(/ ___,___j,)(/ -
= =
D

Q B. The domainis {x| x is any real number}.

(b) Find (f- 9)(x). (é X+ &é -';((7{{;‘2)-
7 — X
(f-g)x)=__  (Simplify 5%3{ answer.) 6—::?:& L/[//

—_t X
What is the domain of f— g? Select the correct clﬁféem, fill in the answer box to complete your
choice. - [ a -
(#2514 -
O A. The domain is {x| . /(;() ) "/6()

(Use integers or fractions for any numbers-in the expressuon Use a comma to separate

answers as needed.) s ) > - 147
O B. The domain is {x| x is any real nurrg:er}\/ ( (7’{/ %) U 7 9—’
(¢) Find (f+ g)(x). 35t —2oX F/T¥X —F =

(F+0)x)= @a)(er) —6 = ‘7“”/

e —————
What is the domain of f » g7 Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. M
OA. Thedomainis {x TSy T O7

(Use integers or fractions for any r any numbers in the expression. U comma to separate

answers as needed.) / J 7 / [f

O B. The domain is {x| x is any real number},,//_'

V.
(d)Find(fJ(x) j/»/_j,é— Y

f —
[5] x)= (Simplify your answer.) '
e ——

C

(= 7).

f
What is the domain of —? Select the oo?cho:ce below and, if necessary fill in the answer box to complete your

choice. — y/ ()(/ / 7 )(”"
O A. The domain is {x| /77/3/ /Z[/’”"Z =

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

MR Tha damenin in ol win aeo -
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(e) Find (f+9)(3).
(f+9)3)=

(f) Find (f- g)(4).
(f-g)4) =

(9) Find (f+g)(2).

(feg)2)=

ol
(h) Find (g]m.

o

Answers 12x -2
B. The do
-2x+6
B. The domain is {x| x is any real numbe
35x% - 6x -8
B. The domain is {x| x is any real nu

Sx+2
7x—4

4 }
A. The domain is {x| x#t o .

(Use integers or fractions for any numbers in

34
-2
120

w|

ID: 1.1.67

///)q TG
/7//,,/ 2 )76
_ (Typean integer or a simplifi ed fraction.)

2/(%) <
— ] e
mﬁzumuﬁ:ﬁ:c}lon)
/9 ,4 35y f—é/("’ 4
mJe 35(2)¢— 6(2)— ¥

o3
/ajj/z) jr(y) '—'/(// Y

pe an i eger ora s:mphf‘ ied fraction. )

fe5)(2)c (28—F
MQ% bezo \‘é/
?4

Syl
I o D

///) Yoy
=

ma to separate answers as needed.)
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[ _ f(x+h)-f(x) I
Find the difference quotient of f; that is, find 1 h # 0, for the following function. Be sure to simplify.

f(x) =x% - 2x+5

f(x+h)-f(x) _
—=

Answer: 2x+h-2 Z
//{( W — Xy
ID: 1.1.83
'-(/f/)/—f/&’_/_ ~
/
/é/,f/) s L RS T ¥ ) (/( ”C')(*fs )

/
(k) (eh) == 2h S = P ol

/ | Y, R
Y Ihet Ithh S ==t T (T 2K
o h | S
J";’- " t = Z ’Z == S ] t—
05 2 ¢ |- A v—;@-c,}__/ﬁ i

¢

—
~—

/1

AN

/
Z/(Zr =¥ é - -
lh

pt
X A T
Y Z 7

QA+h=2T
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o N L

Determine whether the graph is that of a function by @@
using the vertical-line test. If it is, use the graph to find 201'”
(a) its domain and range. (-5,10) {5,10) d)
(b) the intercepts, if any. (ﬂ/(’) a5
(c) any syn_wmetry with respect to the x-axis, y-axis, or 2577 ,' 177 / 25
the origin. . 4
-20-
v

Is the graph that of a function?

( & Ves

.1 No

if the graph is that of a function, what are the domain and range of the function? Select the correct choice below and
fill in any answer boxes within your ch0|ce ( / // V')A /

A. Thefgm;ﬁ is LLM ) erange}s ( >, / % ffﬁ o / éo»/[’m ﬁ?ﬂj

(Type your answers in interval notation:)

B. The graph is not a function.
What are th antercepts? Select the c;yecl ?hmce below and fill in any answer boxes within your choice.
!

'/,-'-rr‘ wr? "]l‘-b.’,;

A (—(S,0) (/*3/ » ) /(_’J 2

(T pe an ordered pair. Use a comma to separate an needed.)

B. There are no intercepts.

C. The graph is not a function.

Determine if the graph is symmetrical,

A. It is symmetrlcal with respect to the x-axls
wB ltis symmetrlgrl with respect to the y-axis ‘:\

C. It is symmetrical with respect to the origin.

D. The graph is not symmetrical.

E. The graph is not a function.

Answers Yes

A. The domainis (-o0,00) .Therangeis (-o0,10] .
(Type your answers in interval notation.)

A. (15,0),(-15,0),(0,10) (Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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9.

(_~®r'B. Thegraph is not constant on any inferval.
\\\-—-—-

Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

Vi 71
)/r.;wl/z/_?/-‘_\ )( 2 éﬁ/y/

’ Ve ..]
(@) What are the{in_tgrcgpts’? ’

2,0) (L) /0o,1)

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) Th@éﬁ;‘ s (3, 30 e——— [for? ) /A7

(Type your answer in interval notation.) —

"7’ I ../z-'.f (7 /.7/_

You bl Cheze |

— =i ' - . L)~ k
Thf%ngg;is { '(*:)g })f & o [ })‘r/‘ hﬂ/ /Ujj‘( /
(T

pe yﬁur answer in interval notation.)

Gy k . ~
1 H : “(j, (@ /!

0 2 26 @ vy P

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within=—__

your choice. ) ;’/;é( a CI € f\ o
O A. The graph is@;a‘éj\;l on —éi,i _07 /_ f, 3 g gu /( o )

(Type your answer in interval notation. Use a comma to separate answers as needed.y————

s

(3 B. The graph is not increasing on any interval.

On which intervai(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

— U = | ) ;
() A. The graph@creag on 4 — j 3 ‘(J [C / [ g
(Type your answer in interval notation. Uge a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on .
(Type your answer in interval notation. Use a comma to separate answers as needed.)
.y

(d) The function is (1)

(1 ( <~neither odd nor e_\/@.__"'-
odd.
even.

2/28/2020, 9:02 AM
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Answers (- 2,0),(1,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasingon [-2,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-2],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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10. The function f is defined as follows.

3+x ifx<0
f(x) =
XX ifx20

(a) Find the domain of the function.
(b) Locate any intercepts.
(c) Graph the function.

d) Based on the graph, find the range. =
(O e . oreen. fndthe rang LT 15k )
o _(257) o ~ ﬂ.

(@rT domau‘: of the function fis ( ==
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. ~h ”/"L7 } /(/‘/\L an) #-
O A. The(]ntercept(s) lsfare ( }f C// (OJ O) 7 oy Locat . (,rU
(Type an ordered pair. Use a comma to separate answers as needed.) . C\f

(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A. O B.

(d)ﬁ{range of the function fis / — X ) (———'-—‘(4 {/
),

(Type your answer in interval notation. }

Answers (- co0,00)

A. The intercept(s) is/are (- 3,0),(0,0)
(Type an ordered pair. Use a comma to separate answers as needed.)

(v e : %éf /{C ? Lo
P 2 \ |

D. o mE ,
(= 0,00) / (:)’//71 D = / ), //77( X
Yl Ay S gl

ID: 1.4.37 ’:; 27// /(/(4 Q) Cirel .--'l

!}f!lf [ ||

I -— \\\: -. ,,«/Jr 70 (‘ Pinis ( J J
\L& _ _ e ( )( P ()—)F {( f(f/j(_ /,

10 of 40 = - — T o= - 2/28/3020,9:02 AM
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11. The graph of a function f is illustrated to the right. Use the graph of f as the first
step toward graphing each of the following functions.

(a) F()=f(x) + 3 (b) G(x) =f(x + 5) (€) PC) = - f(x)

1
(d) HO) = f(x +2) - 1 (e) Q(x) = 5f(x) (M g0 =f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below.
- :

A, O ¢ o D.

(d) Choose the correct graph of HXI=1(X% 2) - 1 belt.—,h_é;;_ dow~ — 1 )

= % -e'/é e 7 'g;i N p—
A. @[ ; B. 9 4c. N Ob.

11 of 40 2/28/2020, 9:02 AM
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1
(e) Choose the correct graph of Q(x) = Ef(x) below. e

OB

12 of 40 2/28/2020, 9:02 AM
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Answers

ID: 1.5.63
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12,
(a) Graph f(x) = |x + 5| - 4 using transformations. Ay
(b) Find the area of the region bounded by f and the i
x-axis that lies below the x-axis. o
(a) Graph f(x). %]
(Use the graphing tool provided to graph the function.) ' ,4‘- ,
|

.2_ ¢
(b) The area of the region bounded by f and the x-axis L4 .
that lies below the x-axis is square —T— Tt ———— — 1>
— —_— dol B b ialo fl2]4 g 8 .10
(Simplify your answer.) 2"

Ly |

i

L6+

,_a.

Answers

ID: 1.5.81
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13. Find t{arzero {f any, of the QUadratlc functlon usm/g the quadratlc formula )Nhat are the x-intercepts, if any, of the
graph &f the-function? e B
f(x) = 8x% + 11 +20x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

O A.

are

(O B. The zeros and the x-intercepts are the same. They are

(O c. There is no real zero solution and no x-intercept.

-5+43 -5-43

4 4

Answer: B. The zeros and the x-intercepts are the same. They are

ID: 2.3.47

:r’-"',}‘-;_/) = Fx Cptl 20X
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o

/" For the quadratic function f(x) = 2 - 8x, answer parts (a)

through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

QO up
() down

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O B. There are no x-intercepts.
What is the y-intercept? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is

(Type an integer or a decimal. )
(O B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it

ie Aarnrascinn

17 of 40
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Ay
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161

X

I e

20 1216 | 12

i
7.l

L
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|

T
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T

T

T
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wp&
Answers up ‘/4/ OC e 42“‘%
nwnm
4.~ 16) 5 I N
23 7 vy ¢ ¢

x=4 J
Q P fcf% /
A. The x-intercept(s) is/are 0,8 . 7 /

e ———,7-4‘/

(Type an integer or a decimal. Use a comma to separat as needed.) /-’HJ kg
7Y .
A. The y-intercept is 0 .(Type an integer or a decimal.) {C Z‘ /i / / .4
— e ) 7
T

)
C’%/ £ *
ple iR

..................

(- 00,00)

[-16,00) ~
[4,00) N~ = = [0
(- 00,4] X~ = [ 7

ID:2.4.33

7”,’/47’;1:‘ ’VQD \
v~ oy = 20 /
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@ For the quadratic function f(x) = ¥ - ax - 12, answer parts

(a) through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

O down
O u

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete

your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as

needed.)

O B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.

(O A. The y-intercept is

(Type an integer ora decimal.)

(O B. There is no y-intercept.

Use the graphing tool to graph the function.

{b) Determine the domain and the range of the function.

The domain of f is

(Type your answer in interval notatlon )

The range of f is

(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

ie AanrraacinAa

20 of 40
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Answers up
(2,-16)
x=2

A. The x-intercept(s) is/are 6,-2 ﬁ"'f 66- ) LLJ " l;,// (/’JQG’A L

(Type an integer or a decimal. Use a comma to'separate answers as needed.) <

ror a decimal.) ({% )9[( b[‘ C O
/%.; onlacs s w3

A it T e

A. The y-intercept is -12 (Type an int

ID: 2.4.37
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z)r the quadratic function f(x) = —2x° +2x - 2, answer _ wj“‘
parts (a) through (c). Verify the results using a graphing 1
utility. 8
B+ ;
(a) Graph the quadratic function by determining whether its [ . I
graph opens up or down and by finding its vertex, axis of ] . ’ 4
symmetry, y-intercept, and x-intercepts, if any. 2 bt
& 2+
1 | x
The graphoffopens (1) R S T e e e g
S ia=nAsEReREaRIRESRNCIEE - BANT a7 REANT
The vertex of f is : 0 W HH i
(Type an ordered pair.) R .4, ; : H |
The axis of symmetry is ; Hl L] 45. ERne |
(Type an equation. Simplify your answer.) | i 1
4
Determine the y-intercept. Select the correct choice below s
~10

and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is s
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

(O B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval

23 of 40 2/28/2020, 9:02 AM
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ExX féuv}fk/f =
(1) © down. /:’)//(4;/ Ly S _//C,/ ﬂC L /W 42 /73&/) 1

O up.
p (,)17/ /)-(Cm»;,( 70% Cc)c»/o/ 5 @4—

Answers (1) down. 7 =
[1 E] Z{’j crd Grh CV“"”/QH .
tgbv S 237 f_t ""7 51 L/?ZZ-J'

2' 2
1 ]
x=7 e — e R

——

A. The y-intercept is -2 .(Type an integer or a decimal.) "

fZ‘

B. There is no x-intercept.

8 0 0 O i

: m’ll‘ uEsE

k
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N

1

\ , — i =

S,

17. Find lﬁe veg;a( honzontal, Td oblique asymptot}es if any, for the follocmng ratlonal funct|on.f ( \, ,H, W =~ V/

= N~

5x | e
RO =12 /@/ "A/f/L A L{fx{/-—z—/zdt-’“”

Select the correct choice below and fill in any answer boxes within your choice. y
( X = —/

O A. The vertical asymptote(s) is/are x = . ( /( . /\\\

(Use a comma to separate answers as needed.)

QO B. There is no vertical 1 as ptot T i — Z // Lw/

L nintlnce
Select the correct hembaluwand_f i |n any @ @ga;ef[_bpxes.mtbm_m__‘_fl%:e_
= __H_f—\. _‘!/’_ T e
O A. The horizontal asymptote(s) is/are y = ]

(Use a comma to separate answers as needed.) S,, )(

(O B. There is no horizontal asymptote. M;— g ——
X7/ 2

Select the correct choice below and fill in any answer boxes wuthm your choice.

{z) o M—— o
O A. The obliqgue asymptote(s) is/are y = / //,r ' h 4 P % i ¢ l //t/ )
7§ / 4

(Use a comma to separate answers as needed.)

e T

O B. There is no oblique asymptote. C 7 — > /(

Answers A. The vertical asymptote(s) is/are x = -12
(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 5
(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

?wc/( /L( ﬁ)//s/, /l‘/// =y .7/‘:;;/& /S ,/,('?\_\\
< vy G S e A;Z 4 A //h/«/ /aa 7y A///)/LF

'Afm ”//1 4 /s VY d L///a«( (,5/ // ////

- e _=n
\_' X,""J-/. \ /’/.‘ /
25 of 40 - L._ 2/28/2020, 9: M
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18. For f(x) = 8x + 5 and g(x) = 8x, find the following composite functions and state the domain of each.

26 of 40

(a) fog (b) gof (c) fof (d) geg
(a) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

) A. The domain of fogis {x | b
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(") B. The domain of f o g is all real numbers.
(b)(@oH(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain of g o fis {x | ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fofis {x | 3}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o f is all real numbers.
(d) (@og)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domainofgogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

2/28/2020, 9:02 AM
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Answers 64x+5
B. The domain of f o g is all real numbers.
64x +40
B. The domain of g o f is all real numbers.
64x +45
B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.

TV P
@/)a buj- 9a €~ GE) Q/ f
(Foa)s -
£ 55) =
£ 8<) |
F(¥x ) x:--_ Q( Oen TN

: . T
G ™S = D (= oy
—r— = /;J/WAS(JCW o
(ﬁb @ K{/ 5 s j(x/ 5 A

‘901 Fl) =
j/ forl) <

V(Fr5)-
57(5%7' ¢ %

B S
Xt Fo T

K-:————\_ﬂ__________,---"" e —
27 of 40 i o
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he function f(x) = 6x + 3 is one-to-one.
// (a) Find the inverse of f and check the answer.

(b) Find the domain and the range of fand f 1.

(c) Graph f, f~ ! , and y = x on the same coordinate axes.

-1
@f (=
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A.
O B.
QO c.
Q D.

I 2
B 2
The domain is {x|x= L.

The domain is the set of all real
numbers.

The domain is {x|x>

The domain is {x|x#

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A
QO B.
QO cC.
O D.

. r

The range is {y[y £k

The range is {y|y b,

The range is the set of all real numbers.

The range is {yly>

Find the domain of f . . Select the correct choice be‘ow
and, if necessary, fill in the answer box to complete fmur
choice.

O A. The domain is {x[xs

I

QO B. The domain is {x|x# |5 I;'H > |
O C. Thedomainis {x|x= )7
() D. The domain is the set of all real '

numbers.

Find the range of f

O A. Therange is {y]yz

(O B. Therange is {y|y¢ ) ) 7

I\

) C. Therange is {V|V<

///t
| <69

. . Select the correct ch wa@ow and,

if necessary, fill in the answer box to compléte y ur choice.

/"_‘/

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

Ay
20

16+

| X
{ 2
L P L T

= ].JZ_ L1620

f‘

7 //

)

r
|

.

_ 1 W7 / (4
%

_ /,/: SN/e

45T

(3 D. The range is the set of all real numbers\ ) g

-1
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Answers X;3 B _.,———7
D. The domain is the set of all real numbers. o (9 )(f é
D. The range is the set of all real numbers. 4 V)i & | , il
D. The domain is the set of all real numbers. = ',/: e ./—-"7< /

D. The range is the set of all real nujrpbe'rs,. é)(/(/}/

ID: 4.2.53

20. Solve the equation.

-x+26

64 = 128"

The solution set is
(Type an integer or a S|mpl|f|ed fract|on Use a comma to separate a

Answer: 12 ,,2 o £ ég ,Z 7><‘é /j*;:,f:
~G X502 |
~Cf o PA=L5C - (/5 ¢

L TeX = T

CX -7 T B~ [56 =7

—[3ix=—/5¢

":_[_3_& "/3’
B2 s

B WS /28/2020, 9:02 AM
R T e ﬂl’k

ID: 4.3.73

—_—

30.0f40
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21.

If a single pane of glass obliterates 1% of the light passing through it, the percent p of Ilght that passes through n

successive panes is given approximately by the function below.
_..~——"_ _—h\\—--‘\

(n) =100(0.99)"
(a) What percent of light will pass th@: panes? )

(b) What percent of light will pass throygh 20 panes?
(c) Explain the meaning of the base 0.99~in_this-problem.

(a) The percent of light that will pass through 5 panes is approximately %.
(Round to the nearest whole number as needed.)

(a) The percent of light that will pass through 20 panes is approximately %.
(Round to the nearest whole number as needed.)

(c) Choose the correct answer below.

(O A. Each pane allows only 0.01% of light to pass through.
(O B. Each pane allows only 0.99% of light to pass through.

(O C. Each pane aliows only 99% of light to pass through.

(O D. Each pane allows only 1% of light to pass through.
Answers 95 //// /( 7, ﬁr 7 §)

C Ea e allows only 99% of light to pass through.
&
iz@/(}) /00(7-5 2
ID: 4 3. 105

_;j_':—m\_f__ - \_- "X_/;,,_-—--’ = — ‘\/___ﬂ__ et

310f40

/x/A_ )-- /d_g,_/j aijl A—/

</1J 7s.077077% "

IRt Y ol
/7(20) - /00 /( %)

[(e)= 0007971
P20) © Fle 750 7376 T

Dio,) = . Buis
Cf (o) = 8L ~_:_:\;/c,;, (

2/28/2020, 9:02 AM
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22. The percentage of pattents P who have survived t years after initial diagnosis of a certain disease is modeled by the

funct,o: P(t) = 100(0 5) / /OU (ﬁ S ) < E

(a) Accordmg to the model, what percen\t of patients survive 1 year afte jnitial diagnosis? 4
(b) What percent of patients survive 3 years after initial diagnosis? / ( l /) /0 9, ((& f/) ( ’
(c) Explain the meaning of the base 0.5 in the context of this problem!

— )= SO 5
(a) According to the model, % of patients sug';ve 1y ar. 1a| diagnosis. L
R (Type an integer 0 -declﬁal )
(b) According to the model, % of patients survive 3 years after initial diagnosis.

(Type an mtegeror(adeei al.) /{? /ﬁ&—) ( ﬁ S )

(c) Explain the meaning of the base 0.5 in the context of this problem. Select the correct choice below and fill in the

answer box to complete your choice. /@) q /0 W gj /1 {3 )
4 f
OA. h % of th I pati ave survive
As each year passes, % of the total pa K /2! e ur@ Z;_f- \T
ar

O B. As each year passes, % of the previo vors have survived.
O C. As each year passes, % of the previous survivors take the dIaQHOSIS.
_-“'L.-_________
-"1_____,—"' ‘ . Jllf ‘/\ = 1’-) L._.-—d—""—
Answers 50 ) y {6 [
\A 5 ¢ ; \ J of

12.5 (/ b \ &~ =

B. As each year passes, 50 % of the previous year's survivors have survived.
ID: 4.3.109

23. ;e functic;_-ﬂ =T L—_—-\“‘ ?q [/t\ -

6‘(“5)‘_5 -01th D (/])

can be used to find the number of milligrams D of a certain drug that i tuenta{;‘%adstféam h hours after the
ﬁ hq

¢

s in
drug has been administered. How many milligrams will be present after 1 r? Aftef 5 hours? \

e

After 1 hour, there will be milligrams. (Round to two demmal places as needed.)

e —

- "-_-\"-———'_\_ﬂ__,—- =
- ZD 1 n?—mf\jH
After 5 hours, there will be miliigrams. (Round to two decimal places as needed.)

= h “"7
Answers 4.48 DQ,-S:@ (—0 /I ( ’)> § f VJ/ s

| %4
ID: 43111¥—L‘Zf£ Lﬁ:v’—-——-—

(5)- S (0. //(s>)
VA 2. 7797 07 G

(m fﬁ \//U

32040 ' 2/28/2020,9:02 AM
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24. Determine the domain of f(x) = log 5(x + 4). clt V¥l ey
£ %
Choose the correct answer below. , . W] = t3s /4 Xr }"
,/41/6‘ )// é/ > o %”;\)ﬂ » )5( .-"I
O (0,0) >0 — ol (3 CP9) >0
O @) Xt 94 g

O (-oom) /}(>"‘/‘\5‘{/

O (-4,0) /F ——_;H\r:f

Answer: (-4,00)

ID:4.4.10 Q(“_L/ mj \

__Z-— = {/‘“\ _

—— ‘ F"'V ’ : = —-n'.._ —

25. Solve the equation. .EW’ '“*\- , = T /
L O /fvp‘z (Aty $)=

log ,(4x +5)=4 G ){ (///

Change the given Ioganl\\'nlcﬁg_éﬂﬂn to- exponential form. Lf

0NN
_ & s
= Fxrs A
(Type an equation. Do not simplify.) 2( é ’Z~ Z = (()/4 g,_

The solution set is { } /{ - llf Xt _S
(Simplify your answer. Use a comma to separate answers as naeded ) (/

Answers gy 4+ 5=24 /G '__5 - (fo/ “T 5-_ '_“_Sf /L
11 // <~ Y -

ry /- %)(
% |

ID: 4.4.91-Setup & Solve

——— i =P
26. The formula _—— A?C_— :——CJ,QA & >\/ ¢ hj G /C / . \\'
D=20e ?"/— — (k_
can bé used-to find the number of mllllgrams D of a certain drug that is in a patient's bloodstream h hours after the L/ /
drug was administered. When the number of m"l'g??'} r‘?achg§\3 ‘the drug is to be administered again. What is 0

the time between injections? . /S/___ 6 )
The time between injections is hour(s). 3 B / ( / i 66 G ;‘ / et 4 )
(Type an integer or a,decrmal rounded to bﬂo decimal 3Iacas as ngpdad ) =t

Answer: 3.16 ;?( / f)ﬁ N (’
. C (ﬁ/'})*— '—0 (4/%/'%/
D: 44125 (A //r)"' 0(/,[//{

2/28/2020, 9:02 AM
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27. Wirite the expression as a sum and/or difference of logarithms. Express powers as factors.
W20 Loy X Xty P s wy AT {2) el
—_—|. x> ~
g[(x+5)15] (A7 ;/V I sy ﬁ’/
X(x+7) Loes /gy (UJ /)(f W)
log [(x+ 5 15 ] (Eim your answer) J ‘_
T Coseqr oy (Kr 70— Cos (X7 S |
Answer: log x+ log (x*- 151dﬁTx_5)____.-——=—~“"'”'
-0 (X —1&9 [X+7/——-—/5"5ﬁj @"ﬂj’»— =
ID: 4.5.51 = -
{ 28. Solve the logarithmic equation. / U j (Y) &‘,»y &7/ i 7(0 s /’V(V(&-—f '
| log x+ log (x-48)=2 . Z y ) OJ/A/’f((J}//‘CL/;Zg
. . LA gt - | 4]
Determine the equation to be solved after removing the logarithm. - [0!
[

. l o
00 X €70
(Type an equation. Do not simplify.) C'} )(Z = (/ // ’—/U 'Y,
Select the correct choice below and, if necessary, fill in the gnswer box to complete your choice.
0= (X +2)(+10 |

O A. The solution set is
(Simplify your answer. Type an exact answer. Use a comma to s /?rate agiwers as
03 o

needed.) ,{/ "t‘ = 0 A o
(O B. There is no solution. )=
o1 /( SO 7 s¢ L‘//

)(—% Z A I II
Answers x(x — 48) = 102 % m C) ){ ﬁ _ cck L . '1

A. The solution setis {50 =
(Simplify your answer. Type an exact answer. Use a comma to separate answers as nfe_gdad )

Zu;()ﬁ"f(a)/}/ vy = (VL;/"—'/
ID: 4.6.17-Setup & Solve
Zf.jézvkl-/x (=2 =)= {

Los(~2 t"/ —0) = L
j/3 4@) = “ 200 , |

Q_H__ 3
Cos(sv)—+Lley (05072 X -
(/U> (ﬁ)/ 7"(/0%2) - 2
Cromv o rovy/
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29. Solve the followmg exponential equatgf{pgs iztlo uhons?“ exact form and as a demlo\
_three decimal places. ¥ 3 B ./Z’ .
/ 3 T3 /’mn# _\j;, (% (71) 7
[/ 3" =81 . N
, /Av-3) b (%) : /e dy.

-3

f|| What is the exact answer? Select the correct ¢
choice. V' o Y g

| X3 Ws) f ; /g N Gl

LA ) s )

.' XA Y—fi
answer))/A3 /{,:f 7/ ‘

O A. The solution set is
' (Simplify your answer. Type an
If QO B. Th?ﬂﬂﬂm /[17/3)
} I‘| What is th QM{( thrgle decimal places? Select the correct choice below and, if necgssary, fil i
| | answer box to complete your chaice. _ o ,(’L £/ )
¥-34% E.3«dil +2 \

O A. The solution set is B e f*n /5/

(Simplify your answer ' pe an mteger or declmal rounded to threed al places as
needed.) = ﬂ ] Qﬂm\
O B. There is no solution. /| Q aani ‘

Ll 3)

Answers A. The solution s: { }» (Simplify your answer. Type ct{rfwer)
) ~ 00 '
tis { 7.000 b 7

A. The solutlon

\\_\ (Simplify your a swer. Type an integer or decimal rounded to three decnmal places as neede(j
\ il of ) 4—‘ - Sy r].
AR e d X
ID>4. 6‘#170«/{/ _\ ;

e —_—

- _-l"'\.

30. Fmd.}he amount that results from the glvgn investment. —

& $700 nvesteiﬁ! 1% ampounde(uart;a after a perio of 4 yealg

-

After 4 years, investment results in $

(Round to the nearest cent as ngded ) ) &
A= 760 ([+ 477

Answer: 1080.46 / /] b_:_—-?—
/ <700 ([+-4)(1e) - /95""??“\”7‘%(
ID: 4.7.7 7] W Z/.fé {Of - — C

‘How_many years WI|| it take for an initial inve t(of $30, 000 growtgis 000'? sume a rate of interest of
( 13% £ompounded contmuous :

_/(;_ /‘/{0 s / 5) /3_(//)
It will take about

investment fo grow to $45,0
(Round to two decimal placesas‘needed.) o I3L /2 ?/ S) - ¢ /gé
Foou < 30000(/‘ ol (/ S’) . Mé

Answer: 3.12 . ) g i
Fsver 30 ? i €
Sguue 900 &

D474 )~ = of 3¢ 3// y7{2‘37¢ € -

—

/»,//@ /(c ”O/ 3er2=C 7&»»/
35 of 40 /5( / 5* P /g ( "/’MO | 2/28/2020,9:02 AM
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32. The population of a colony of mosqu:toes obeys the law of uninhibited growth. Use this information to answer parts
a) through (c '
(a) | gh (c). L,lck

(a) }f N is the population of the colony and t is the time in days, express N as a function of t. Consider N, is the
ongmal amount att=0 and k# 0 is a constant that represents the growth rate.

N({t) = (Type an expression using t as the variable and in terms of e.)

(b) The population of a colony of-mosrquito?as obeys the law of uninhibited growth. If there are 1000 mosquitoes
initially and there are 1300 after 1 day, what is the size of the colony after 2 days?
~

N

Approximately mosquitoes, 'L\ © R
(Do not round until the final answer. Then round to the nearest whole number as needed.)

"/'(c) How long is it until there are 20,000 osquitoes? /' __ | €R
oo ; 4

\_About days.
(Do not round until the final answer. Then round to the nearest tenth as needed.)

Answers N ¢ kt

1690
11.4

ID:4.8.5
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o= 7St
_ (A = 70 : Ot .
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.
é c - S000 &

J0 0oo = /ﬁOOC

, 26236 €

0 2G5 C £

26236 ¢

2 0 0¥ 062 &
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20 _ 26236 €

,26

236¢€

M (20) "vﬂ/f .
ZL.. /20),_: 252264%/%"/)
Yo = 260364 1)
//\/20)’“ Z//
—, 761256 %




< o
33. The half-life of carbon-14 is 5600 years. If a piece of charcoal made from the wood of a tree shows onﬁr 79% of the
carbon-14 expected in living matter, when did the tree die? ¢ N

”~
The tree died about years ago. //
(Do not round until the final answer. Then round to the nearest whol&r,\umber)

o
76 &/OC f-’/ ,1) fé()u’

Answer: 1904 ol 5‘6.0*\ IJ; ( /) g A

p /49 — SOV [{ Y7 - S
ID:4811 <7V ,_/;u_u 2 T Q // 560~
¢« 74 : )M' //@' Yo Yley73 T € ¥
' . . / _ . ‘_"“"*—ﬁ____’ L
.él" /l' /(_’) > &; /.f_)ﬁ{d _*"—J___ﬂ_‘_; o | s

bi(75), . £ é(f%/
A ( ’*) A
Ao (29 £
ﬁ,( h)  skeY

6 of 40 2/28/2020, 9:02 AM
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34, Y N 1000 N e WA
The {ogistic growth mode}P(t) = — 04291 represal;l{s the population (in grams) of a bacterium/after t
N el 1+31.33¢ & / e ™
Chours,/Answer parts (a) throught (f). — =

(a) [betermma the carrying capacity of the environment. /C/ -

=4 / 0
The carrying capacity of the environment is ( 0

(b}What is the growth r,ateaﬂhoban% I — -

/// . e _-\\M_._ —
he growth rate is % q % per hour 2 - e

(Type an integer or a decimat:) —

(c) Determine the initial population size. f() /00( "—( -+ 3!- 33 C -l ( 0, 42 (v 3\>

Initially, the population was @0/\ 30.97%/0 4 _} [ L A jh, m(
(Round to the nearest whole number as needed )‘f/@/ _ﬂ\ v /?) e ‘: j;}) l‘l.;)-u (A ¢ } 'r

(d) What is the population after 9 hours?.. \ e

After 9 hours, the population is g. /(6? */90@ ——(._f 31, 3} 64(- Ay (5)))

(Do not round until the final answer. Then round to the nearest tenth as needed.)

5 (e ff:\
(e) When will the population be 700 g? /{ ) g OZ ‘L 7( v 3 \L( 1510“4"

( -
It will take approximately hour(s) for the populatlon to reach 700 @ / 7/ ) ( @42@ é \
(Round the final answer to the nearest hundredth as needed. Round d.all lntermedtate value rfﬁe n are!ﬂ ‘ o

ten-thousandth as needed.) e

— — B —
—— —_— =

(f) How long does it take for the population to reach one-half the carrying capacity?

The population will reach one-half of the carrying capacity in about hour(s).
(Round the final answer to the nearest tenth as needed. Round all intermediate values to the nearest

ten-thousandth as needed.) w /0 o0
Answers 1000 f@}’ @ — 7:*_3/ 33 6‘& e <( V;‘;}’ij
42.9
R T4 e
Y g1 3 )= (e
602.6 —O. Q25 ¢ KQ_QL
I CETE M

T 200 g9 )
ID: 4.8.23 /—/_ 3/, 3360 ! e /‘fC/ZZS 7/
. ~0. 429 . | .
Vot 3,22 7(: [, G2F7s7%25 — |
7 ~0.925< | o
0 = Y2 FST/YLT
. L L2 §57/ %25
31.33 -  3/.22
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35. _ o 94.9452 Q
The Ioglstic medel P(t) = represe f,nls)the percentage of households th{do' notown a personai ~

1+0.0327 ¢ 01548t
i 27 £ 01548t
puter t years since 1986. Complete parts (a) -

( | and interpre valuate
s:)o;;jauate d int po/tP})/l;el Ct/cF;(Oqc/s( _..(/ + 0. 6'3&7CA/0 /570”(0))>
nd to aghedde 2_ |
I S ey ) - 7. q 3890/ Dt
Ju‘ 7
{ Com* " -

Which sentence belfow bes Sstiibes P(O)'?q{: q \ﬁdow (f

] s L id

() A. P(0) is the year no households had a pe (f’ 5¢
() B. P(0) is the year all households had a personal computer. /{,J
e ¢ Jedt

f.‘?'fc P(0) is the: & percentage: ofhou‘s’eho!ds wuthout a personal computer in 1986 “\ by p J\ )
O D. P(0) is the percentage of households with a personal computer i in 1986.

5€ a graphing utlllty to j aph P = P(t). Choose the correc raph below

\ y (S
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O
’.
\

3 3

o W)
-
@ o ] [0} 100 )
3 3 3 3
3 3 2 3
I T I 1 T
= = £ 1 = i
70 0 70 0 70 0 70 / 5’7 g
Years since 1986 Years since 1986 Years since 1986 Years since 1986 c
—19%6
= RS A
(c) What percentage of households did not own & personal comp 19927 f 3 é
W . E
v G /
1992, % of households did not own a pers puter. ( ) 1 r —Z
(Round to one decimal place as n aded] 7 ( s 3)
‘(/6795‘2 to.0327 ¢ (0./Y7(6)
(d) In l.-.rhat year will the perc hou Ids that o not own a personal computer reach 10%?
~ /5 V Bl et
[\/(:6 ¥ s urmg the year the p e of households that do not own a personal computer will reach
‘ 10% - .
F77 ' SPA T o
= Answars 919 N " ( /,-', SO~ C ury-
C. P(0) is the percentage of hausgholds without a personal computer in 1986.
§ (( X
A< |
o 70 4 %
B. Years since 1986 / .
f
87.7 | ( /4 GA—" |
2021 I{f
ID: 4.8.27-GC
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36. Solve the system,of ﬁzhons If the system has no solution, say that zt mconswtent =3 2 \
i 3 — 2 21
3x -2y=3 ' X=¢7 = 36 / t})( - 212
[oX L9 * V 1 (3
5x +y =18 - 3 '

=J 1

L (=D
Select the correct choice below and, if necessary, fill in any answer boxes within your choic:

gh,‘Lj}-{’ 3%,,_2 & 3

O A. The solution of the system is x = andy= n
Y2y < 2

(Type an integers or simplified fractions.) / 3

QO B. There are infinitely many solutions. Using ordered pairs, the solution can be “ﬂ-ltten as / -
{(x y)|x= , y any real number} ,1/,-— A b 7/ e 9
(Simplify your answer. Type an expression using y as the variable as needed.) Z C

o (= = B
QO C. The system is inconsistent. l / / —
Answer: A. The solution of the systemisx= 3 ~  andy= 3 :

——— e gy

(Type an integers or simplified fractions.)

06153 /(/( %?) (3, '3)w

37. Solve the given system of equattons if the system has no solution, say that it is inconsistent. # 3 X ‘«/
/"M ‘—’L//i (;/{L#/T f 7* L

Select the correct choice below and fill in any answer boxes within your choice. -

O A.

O B.

Oc.

OD.

2x+ y+ z=
-3x+2y-2z= -15

X-2y+3z=

/(

VI

The solution is x= ,andz=

integers or simplified fractions.)

There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= , z any real number}.

(Simplify your answers. Type expressions using z as the variable as needed.)

vy=

There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x ¥4 | X= , y any real number, z any real number

(Simplify your answer. Type an.expression using y and z as the %a
The system is inconsistent. 2 ¢’ 0/ /ﬂ’/\ / ' d )( /

as needed.)

~/

rrefC)y

€1 Ff’

Answer: A.

mmerw/(z

\ V = -1 . (Type integers or

L ) “{f/

a7)-

The solution is x= 3
simplified fractions.)

andz= 2 .
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38. F d the sum of the sequence.

@8 1;: (Q‘iizﬁ/rﬁw/r(fh Gts oo+ (TG rer) =
@1y 7':"21(/717)# (21 g) (36e )7 58 )+ S¥7TV =
Y (9k+8)= -
(4 2% (25)% %) + (§%) + &% @7‘/

Answer: 237 I 5-3 _f-
= C LS 2 ‘"1 L{_lf" LY

@422’; iju Vl-;l’kuqé/J“I C

37 bf’%f/’;“w Q& (7.

ID:7.1.73

- ———

— —
39. (:Expand the expression. USmg themrem

x Uy S SO T (7 CEX)

(x+ 3)* W/)% 4)6(/)/?)tjx%}%(}ﬁ()&?)?‘()ﬂ)é/fl

ID: 7.5.17 //%Mf/ﬂf)(—(—flfw

40. Find the real Soluitions of the ﬂ.l_a_t_:gn )
4+ 35 =x [f2¢—s = x=7 [Turite

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

O A. The solution set is { L.

(Simplify your answer. Use a comma to separate answers as needed.)

——

O B. The solution is the empty set.

Answer: A. The solution set is { 7 }

(Simplify your answer. Use a comma to separate answers as needed.)

s (UBor )= @) T S kil
Zv- /,[ w/ )
ove g X TH IS
2v—5S<=X '—"74/ 7/6
0 ~ )/1’— X #/6 — X Ts
o< X° '"“/ox + 2|

— e 2D8/2020,9:02AM
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